

Informazione Regolamentata n. 20250-71-2025

Data/Ora Inizio Diffusione 8 Settembre 2025 18:00:43

Euronext Milan

Societa': TECHNOPROBE

Identificativo Informazione

Regolamentata

209759

Utenza - referente : TECHNOPROBEN04 - Di Terlizzi

Tipologia : REGEM

Data/Ora Ricezione : 8 Settembre 2025 18:00:43

Data/Ora Inizio Diffusione : 8 Settembre 2025 18:00:43

Oggetto : WEEKLY PRESS RELEASE ON TREASURY

SHARES BUYBACK PLAN

Testo del comunicato

Vedi allegato









PRESS RELEASE

WEEKLY PRESS RELEASE ON TREASURY SHARES BUYBACK PLAN

Cernusco Lombardone (LC). September 8, 2025 - Technoprobe S.p.A., a leading company in the design and production of probe cards (the "Company" or "Technoprobe") listed on Euronext Milan, declares the purchase on the Euronext Milan market, according to the Shareholders' Meeting on July 10, 2025 approval and initiated by the Board of Directors on July 23, 2025 (already object of informative also according to art.144 bis of the Consob Regulation 11971/99 and art. 132 of Legislative Decree no. 58/98), in the period from September 1st, 2025 to September 5, 2025, of n. 613,001 ordinary shares (equal to 0.09384% of the share capital) at the weighted average price of Euro 6.705774 for a total value of Eur 4,105,085.25.

Purchases were made through the intermediary Intesa SanPaolo S.p.A.

Below there is a detail of the purchases made on the ordinary shares of Technoprobe S.p.A., code ISIN IT0005482333, on a daily basis, in detail, the transactions made in the aforementioned period.

<u>Date</u>	Quantity	Average price (Euro)	Countervalue (Euro)
01/09/2025	100,000	6.8942	689,420.00
02/09/2025	150,000	6.72946	1,009,419.00
03/09/2025	158,000	6.63998	1,049,116.84
04/09/2025	120,001	6.55938	787,132.16
05/09/2025	85,000	6.70585	569,997.25

The details of all the purchase transactions carried out in the period indicated above are reported in the following pages.

Therefore as at August 5, 2025 the Company owns 9,520,459 ordinary shares (equal to 1.45737% of the share capital).

This press release is available on Technoprobe's website https://www.technoprobe.com in the Investor Relations section and on the authorized storage system named eMarket Storage" (www.emarketstorage.it).









Contact

Technoprobe S.p.A.
Investor Relator
Ines Di Terlizzi

Email: ir@technoprobe.com

Technoprobe S.p.A.

Communication & Marketing Manager Paolo Cavallotti

Email: paolo.cavallotti@technoprobe.com

Technoprobe Group

Technophobe is a leading company in the field of semiconductors and microelectronics. Established in 1996. Technoprobe is focused in the design and manufacture of Probe Cards. i.e. electro-mechanical interfaces used for the functional testing of chips. Probe cards are hitech devices that are custom-made for each chip and allow the function of chips to be tested during the manufacturing process. These technologically-advanced designs and solutions are essential for ensuring the proper functioning and reliability of devices that play a crucial role in industries such as Information Technology. 5G. Internet of Things. home automation. automotive. aerospace. etc. Technoprobe headquarters are in Cernusco Lombardone (LC). Since May 2nd. 2023 shares have been transferred to Euronext Milano segment. For more information. visit the website: www.technoprobe.com







Fill ID	Fill Date	Fill Time	B/S	Country	Market	Security Ref.	Fill Price	Fill Qty	Eur
1ZAZHWPDR	01/09/2025	12:27:19	Buy	IT.ico	MTA	TPRO	6.82	84	572.88
1ZAZHWPDS	01/09/2025	12:27:19	Buy	IT.ico	MTA	TPRO	6.825	250	1706.25
1ZAZHWPDT	01/09/2025	12:27:19	Buy	IT.ico	MTA	TPRO	6.83	4,970	33945.1
1ZAZHWPDU	01/09/2025	12:27:19	Buy	IT.ico	MTA	TPRO	6.83	722	4931.26
1ZAZHWPDV	01/09/2025	12:27:19	Buy	IT.ico	MTA	TPRO	6.83	3,307	22586.81
1ZAZHWPDW	01/09/2025	12:27:19	Buy	IT.ico	MTA	TPRO	6.83	248	1693.84
1ZAZHWPE0	01/09/2025	12:27:31	Buy	IT.ico	MTA	TPRO	6.83	18	122.94
1ZAZHWPE5	01/09/2025	12:27:37	Buy	IT.ico	MTA	TPRO	6.83	160	1092.8
1ZAZHWPF3	01/09/2025	12:29:05	Buy	IT.ico	MTA	TPRO	6.83	241	1646.03
1ZAZHWUWD	01/09/2025	16:08:33	Buy	IT.ico	MTA	TPRO	6.9	2,000	13800
1ZAZHWUWE	01/09/2025	16:08:33	Buy	IT.ico	MTA	TPRO	6.9	72	496.8
1ZAZHWUWF	01/09/2025	16:08:33	Buy	IT.ico	MTA	TPRO	6.9	171	1179.9
1ZAZHWUWG	01/09/2025	16:08:33	Buy	IT.ico	MTA	TPRO	6.905	250	1726.25
1ZAZHWUWH	01/09/2025	16:08:33	Buy	IT.ico	MTA	TPRO	6.91	1,090	7531.9
1ZAZHWUWI	01/09/2025	16:08:33	Buy	IT.ico	MTA	TPRO	6.91	906	6260.46
1ZAZHWUWJ	01/09/2025	16:08:33	Buy	IT.ico	MTA	TPRO	6.91	3,011	20806.01
1ZAZHWUWM	01/09/2025	16:08:38	Buy	IT.ico	MTA	TPRO	6.905	250	1726.25
1ZAZHWUWN	01/09/2025	16:08:38	Buy	IT.ico	MTA	TPRO	6.905	200	1381
1ZAZHWUWO	01/09/2025	16:08:38	Buy	IT.ico	MTA	TPRO	6.91	4,390	30334.9
1ZAZHWUWP	01/09/2025	16:08:38	Buy	IT.ico	MTA	TPRO	6.91	810	5597.1
1ZAZHWUWQ	01/09/2025	16:08:38	Buy	IT.ico	MTA	TPRO	6.91	1,850	12783.5
1ZAZHWWF2	01/09/2025	16:59:06	Buy	IT.ico	MTA	TPRO	6.895	22	151.69
1ZAZHWWF3	01/09/2025	16:59:06	Buy	IT.ico	MTA	TPRO	6.9	218	1504.2
1ZAZHWWF4	01/09/2025	16:59:06	Buy	IT.ico	MTA	TPRO	6.9	160	1104
1ZAZHWWF5	01/09/2025	16:59:06	Buy	IT.ico	MTA	TPRO	6.905	250	1726.25
1ZAZHWWF6	01/09/2025	16:59:06	Buy	IT.ico	MTA	TPRO	6.905	252	1740.06
1ZAZHWWF7	01/09/2025	16:59:06	Buy	IT.ico	MTA	TPRO	6.905	236	1629.58
1ZAZHWWF8	01/09/2025	16:59:06	Buy	IT.ico	MTA	TPRO	6.905	2,491	17200.36
1ZAZHWWF9	01/09/2025	16:59:06	Buy	IT.ico	MTA	TPRO	6.905	3,558	24567.99
1ZAZHWWFA	01/09/2025	16:59:06	Buy	IT.ico	MTA	TPRO	6.905	2,813	19423.77
1ZAZHWXL1	01/09/2025	17:25:27	Buy	IT.ico	MTA	TPRO	6.885	7	48.195
1ZAZHWXL2	01/09/2025	17:25:27	Buy	IT.ico	MTA	TPRO	6.885	610	4199.85
1ZAZHWXL3	01/09/2025	17:25:27	Buy	IT.ico	MTA	TPRO	6.885	147	1012.095
1ZAZHWXL4	01/09/2025	17:25:27	Buy	IT.ico	MTA	TPRO	6.895	966	6660.57
1ZAZHWXL5	01/09/2025	17:25:27	Buy	IT.ico	MTA	TPRO	6.895	1,151	7936.145
1ZAZHWXL6	01/09/2025	17:25:27	Buy	IT.ico	MTA	TPRO	6.9	512	3532.8
1ZAZHWXL7	01/09/2025	17:25:27	Buy	IT.ico	MTA	TPRO	6.9	812	5602.8









1ZAZHWXL8	01/09/2025	17:25:27	Buy	IT.ico	MTA	TPRO	6.9	2,156	14876.4
1ZAZHWXL9	01/09/2025	17:25:27	Buy	IT.ico	MTA	TPRO	6.905	250	1726.25
1ZAZHWXLA	01/09/2025	17:25:27	Buy	IT.ico	MTA	TPRO	6.905	389	2686.045
1ZAZHWXLP	01/09/2025	17:25:30	Buy	IT.ico	MTA	TPRO	6.885	250	1721.25
1ZAZHWXLQ	01/09/2025	17:25:30	Buy	IT.ico	MTA	TPRO	6.9	2,362	16297.8
1ZAZHWXLR	01/09/2025	17:25:30	Buy	IT.ico	MTA	TPRO	6.905	162	1118.61
1ZAZHWXLS	01/09/2025	17:25:30	Buy	IT.ico	MTA	TPRO	6.905	4,226	29180.53
1ZAZHWXLX	01/09/2025	17:25:34	Buy	IT.ico	MTA	TPRO	6.885	250	1721.25
1ZAZHWXLY	01/09/2025	17:25:34	Buy	IT.ico	MTA	TPRO	6.9	341	2352.9
1ZAZHWXLZ	01/09/2025	17:25:34	Buy	IT.ico	MTA	TPRO	6.9	2,251	15531.9
1ZAZHWXM0	01/09/2025	17:25:34	Buy	IT.ico	MTA	TPRO	6.905	2,194	15149.57
1ZAZHWXM1	01/09/2025	17:25:34	Buy	IT.ico	MTA	TPRO	6.905	1,964	13561.42
1ZAZHWXM8	01/09/2025	17:25:38	Buy	IT.ico	MTA	TPRO	6.885	1	6.885
1ZAZHWXM9	01/09/2025	17:25:38	Buy	IT.ico	MTA	TPRO	6.895	817	5633.215
1ZAZHWXMA	01/09/2025	17:25:38	Buy	IT.ico	MTA	TPRO	6.9	341	2352.9
1ZAZHWXMB	01/09/2025	17:25:38	Buy	IT.ico	MTA	TPRO	6.9	2,221	15324.9
1ZAZHWXMC	01/09/2025	17:25:38	Buy	IT.ico	MTA	TPRO	6.9	840	5796
1ZAZHWXMD	01/09/2025	17:25:38	Buy	IT.ico	MTA	TPRO	6.9	600	4140
1ZAZHWXME	01/09/2025	17:25:38	Buy	IT.ico	MTA	TPRO	6.905	2,180	15052.9
1ZAZHWXMF	01/09/2025	17:25:42	Buy	IT.ico	MTA	TPRO	6.885	250	1721.25
1ZAZHWXMG	01/09/2025	17:25:42	Buy	IT.ico	MTA	TPRO	6.9	341	2352.9
1ZAZHWXMH	01/09/2025	17:25:42	Buy	IT.ico	MTA	TPRO	6.905	2,842	19624.01
1ZAZHWXMI	01/09/2025	17:25:42	Buy	IT.ico	MTA	TPRO	6.905	3,567	24630.14
1ZAZHWXNN	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.875	250	1718.75
1ZAZHWXNO	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.885	250	1721.25
1ZAZHWXNP	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.885	785	5404.725
1ZAZHWXNQ	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.885	915	6299.775
1ZAZHWXNR	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.885	1,150	7917.75
1ZAZHWXNS	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.89	341	2349.49
1ZAZHWXNT	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.89	797	5491.33
1ZAZHWXNU	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.9	341	2352.9
1ZAZHWXNV	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.9	4,929	34010.1
1ZAZHWXNW	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.905	1,053	7270.965
1ZAZHWXNX	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.905	1,000	6905
1ZAZHWXNY	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.905	1,463	10102.02
1ZAZHWXNZ	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.905	2,547	17587.04
1ZAZHWXO0	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.905	1,806	12470.43
1ZAZHWXO1	01/09/2025	17:26:03	Buy	IT.ico	MTA	TPRO	6.905	250	1726.25







Tazhwaya	995.49 85.71 23.75
12AZHWXRZ	3.5.515 34.185 31.71 356.17 33.1 395.49 35.71 33.75
Tazathwso 01/09/2025 17:27:40	64.185 01.71 056.17 13.1 195.49 15.71 23.75
12AZHWXS1	91.71 956.17 93.1 995.49 95.71
1ZAZHWXS2	956.17 93.1 995.49 95.71 23.75
1ZAZHWXS3	95.49 95.71 23.75
1ZAZHWXS4	995.49 85.71 23.75
1ZAZHWXUT	35.71
1ZAZHWXUV	23.75
1ZAZHWXUV 01/09/2025 17:29:01 Buy IT.ico MTA TPRO 6.9 1,130 775 1ZAZHWXUW 01/09/2025 17:29:01 Buy IT.ico MTA TPRO 6.9 1,087 750 1ZAZHWXUX 01/09/2025 17:29:01 Buy IT.ico MTA TPRO 6.905 194 13:3 1ZAZHX1X5 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 817 556 1ZAZHX1X6 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 350 238 1ZAZHX1X7 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 72 490 1ZAZHX1X8 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 495 337 1ZAZHX1X9 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 704 475 1ZAZHX1XA 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 1,677 114 1ZAZHX1XB 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 885 603 1ZAZHX1XB 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 885 603 1ZAZHX29F 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 1,500 101 1ZAZHX29G 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 1,500 101 1ZAZHX29H 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 736 500 1ZAZHX29J 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 500 340 1ZAZHX29J 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 500 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 500 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 4,169 283	
1ZAZHWXUW 01/09/2025 17:29:01 Buy IT.ico MTA TPRO 6.9 1,087 750 1ZAZHWXUX 01/09/2025 17:29:01 Buy IT.ico MTA TPRO 6.905 194 133 1ZAZHX1X5 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 817 566 1ZAZHX1X6 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 350 238 1ZAZHX1X7 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 495 337 1ZAZHX1X8 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 495 337 1ZAZHX1XA 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 495 337 1ZAZHX1XA 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 885 603 1	7
1ZAZHWXUX 01/09/2025 17:29:01 Buy IT.ico MTA TPRO 6.905 194 133 1ZAZHX1X5 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 817 566 1ZAZHX1X6 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 350 236 1ZAZHX1X7 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 72 496 1ZAZHX1X8 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 704 478 1ZAZHX1XA 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 704 478 1ZAZHX1XB 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 1,677 114 1ZAZHX1XB 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 885 603 1	
1ZAZHX1X5 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 817 556 1ZAZHX1X6 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 350 238 1ZAZHX1X7 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 72 496 1ZAZHX1X8 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 704 478 1ZAZHX1X9 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 704 478 1ZAZHX1XA 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 1,677 114 1ZAZHX1XB 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 1,677 114 1ZAZHX1XB 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.79 110 746 <th< th=""><th>0.3</th></th<>	0.3
1ZAZHX1X6 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 350 238 1ZAZHX1X7 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 72 490 1ZAZHX1X8 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 495 337 1ZAZHX1X9 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 1,677 114 1ZAZHX1XB 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 1,677 114 1ZAZHX29F 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 885 603 1ZAZHX29F 02/09/2025 09:34:49 Buy IT.ico MTA TPRO 6.79 110 746 1ZAZHX29H 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 195 132 <th< th=""><th>9.57</th></th<>	9.57
1ZAZHX1X7 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.81 72 490 1ZAZHX1X8 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 495 337 1ZAZHX1X9 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 704 473 1ZAZHX1XA 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 1,677 114 1ZAZHX29F 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 885 603 1ZAZHX29F 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 110 746 1ZAZHX29G 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 1,500 101 1ZAZHX29H 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 736 500 <th< th=""><th>3.77</th></th<>	3.77
1ZAZHX1X8 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 495 337 1ZAZHX1X9 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 704 478 1ZAZHX1XA 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 1,677 114 1ZAZHX1XB 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 885 603 1ZAZHX29F 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 885 603 1ZAZHX29F 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 110 746 1ZAZHX29H 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 195 132 1ZAZHX29J 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 500 340	3.5
1ZAZHX1X9 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 704 479 1ZAZHX1XA 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 1,677 114 1ZAZHX1XB 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 885 603 1ZAZHX29F 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 110 746 1ZAZHX29G 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 1,500 101 1ZAZHX29H 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 736 500 1ZAZHX29J 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 500 340 1ZAZHX29K 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1).32
1ZAZHX1XA 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 1,677 114 1ZAZHX1XB 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 885 603 1ZAZHX29F 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 110 746 1ZAZHX29G 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 1,500 101 1ZAZHX29H 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 195 132 1ZAZHX29J 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 500 340 1ZAZHX29K 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 4,169 283	3.425
1ZAZHX1XB 02/09/2025 09:38:39 Buy IT.ico MTA TPRO 6.815 885 603 1ZAZHX29F 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 110 746 1ZAZHX29G 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 1,500 101 1ZAZHX29H 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 195 132 1ZAZHX29J 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 500 340 1ZAZHX29K 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 4,169 283	7.76
1ZAZHX29F 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 110 746 1ZAZHX29G 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 1,500 101 1ZAZHX29H 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 195 132 1ZAZHX29I 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 736 500 1ZAZHX29J 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 500 340 1ZAZHX29K 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 4,169 283	28.76
1ZAZHX29G 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.79 1,500 101 1ZAZHX29H 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 195 132 1ZAZHX29I 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 736 500 1ZAZHX29J 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 500 340 1ZAZHX29K 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 4,169 283	1.275
1ZAZHX29H 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 195 132 1ZAZHX29I 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 736 500 1ZAZHX29J 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 500 340 1ZAZHX29K 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 4,169 283	.9
1ZAZHX29I 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.795 736 500 1ZAZHX29J 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 500 340 1ZAZHX29K 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 4,169 283	85
1ZAZHX29J 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 500 340 1ZAZHX29K 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 4,169 283	25.025
1ZAZHX29K 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 790 537 1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 4,169 283	1.12
1ZAZHX29L 02/09/2025 09:44:49 Buy IT.ico MTA TPRO 6.8 4,169 283	0
	2
1ZAZHX29O 02/09/2025 09:44:55 Buy IT.ico MTA TPRO 6.79 218 148	49.2
	0.22
1ZAZHX29P 02/09/2025 09:44:55 Buy IT.ico MTA TPRO 6.8 786 534	4.8
1ZAZHX29Q 02/09/2025 09:44:55 Buy IT.ico MTA TPRO 6.8 694 471	9.2
1ZAZHX29R 02/09/2025 09:44:55 Buy IT.ico MTA TPRO 6.8 878 597	0.4
1ZAZHX29S 02/09/2025 09:44:55 Buy IT.ico MTA TPRO 6.8 951 646	6.8
1ZAZHX29T 02/09/2025 09:44:55 Buy IT.ico MTA TPRO 6.8 4,473 304	16.4
1ZAZHX29W 02/09/2025 09:45:02 Buy IT.ico MTA TPRO 6.79 29 196	5.91
1ZAZHX29X 02/09/2025 09:45:02 Buy IT.ico MTA TPRO 6.795 250 168	8.75
1ZAZHX29Y 02/09/2025 09:45:02 Buy IT.ico MTA TPRO 6.795 814 553	31.13
1ZAZHX29Z 02/09/2025 09:45:02 Buy IT.ico MTA TPRO 6.8 3,355 228	
1ZAZHX2A0 02/09/2025 09:45:02 Buy IT.ico MTA TPRO 6.8 702 477	114









1ZAZHX2A1	02/09/2025	09:45:02	Buy	IT.ico	MTA	TPRO	6.8	3,850	26180
1ZAZHX47A	02/09/2025	10:22:54	Buy	IT.ico	MTA	TPRO	6.765	1	6.765
1ZAZHX47B	02/09/2025	10:22:54	Buy	IT.ico	MTA	TPRO	6.77	50	338.5
1ZAZHX47C	02/09/2025	10:22:54	Buy	IT.ico	MTA	TPRO	6.77	504	3412.08
1ZAZHX47D	02/09/2025	10:22:54	Buy	IT.ico	MTA	TPRO	6.77	4,818	32617.86
1ZAZHX47E	02/09/2025	10:22:54	Buy	IT.ico	MTA	TPRO	6.77	4,627	31324.79
1ZAZHX67U	02/09/2025	11:26:06	Buy	IT.ico	MTA	TPRO	6.74	104	700.96
1ZAZHX67V	02/09/2025	11:26:06	Buy	IT.ico	MTA	TPRO	6.74	198	1334.52
1ZAZHX67W	02/09/2025	11:26:06	Buy	IT.ico	MTA	TPRO	6.74	1,171	7892.54
1ZAZHX67X	02/09/2025	11:26:06	Buy	IT.ico	MTA	TPRO	6.74	203	1368.22
1ZAZHX67Y	02/09/2025	11:26:06	Buy	IT.ico	MTA	TPRO	6.74	330	2224.2
1ZAZHX67Z	02/09/2025	11:26:06	Buy	IT.ico	MTA	TPRO	6.74	174	1172.76
1ZAZHX680	02/09/2025	11:26:06	Buy	IT.ico	MTA	TPRO	6.74	2,820	19006.8
1ZAZHX686	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.73	196	1319.08
1ZAZHX687	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.73	120	807.6
1ZAZHX688	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.73	79	531.67
1ZAZHX689	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.735	115	774.525
1ZAZHX68A	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.74	1,452	9786.48
1ZAZHX68B	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.745	855	5766.975
1ZAZHX68C	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.745	942	6353.79
1ZAZHX68D	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.745	1,392	9389.04
1ZAZHX68E	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.745	853	5753.485
1ZAZHX68F	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.75	100	675
1ZAZHX68G	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.75	709	4785.75
1ZAZHX68H	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.75	1,496	10098
1ZAZHX68I	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.75	2,547	17192.25
1ZAZHX68J	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.75	52	351
1ZAZHX68K	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.75	500	3375
1ZAZHX68L	02/09/2025	11:26:18	Buy	IT.ico	MTA	TPRO	6.75	8,592	57996
1ZAZHX691	02/09/2025	11:26:28	Buy	IT.ico	MTA	TPRO	6.735	104	700.44
1ZAZHX692	02/09/2025	11:26:28	Buy	IT.ico	MTA	TPRO	6.74	60	404.4
1ZAZHX693	02/09/2025	11:26:28	Buy	IT.ico	MTA	TPRO	6.745	250	1686.25
1ZAZHX694	02/09/2025	11:26:28	Buy	IT.ico	MTA	TPRO	6.75	2,222	14998.5
1ZAZHX695	02/09/2025	11:26:28	Buy	IT.ico	MTA	TPRO	6.755	350	2364.25
1ZAZHX696	02/09/2025	11:26:28	Buy	IT.ico	MTA	TPRO	6.755	2,500	16887.5
1ZAZHX697	02/09/2025	11:26:28	Buy	IT.ico	MTA	TPRO	6.755	3,271	22095.61
1ZAZHX698	02/09/2025	11:26:28	Buy	IT.ico	MTA	TPRO	6.755	1,601	10814.76
1ZAZHX699	02/09/2025	11:26:28	Buy	IT.ico	MTA	TPRO	6.76	250	1690









1ZAZHX69A	02/09/2025	11:26:28	Buy	IT.ico	MTA	TPRO	6.76	5,942	40167.92
1ZAZHX69B	02/09/2025	11:26:28	Buy	IT.ico	MTA	TPRO	6.76	3,450	23322
1ZAZHX69D	02/09/2025	11:26:35	Buy	IT.ico	MTA	TPRO	6.735	61	410.835
1ZAZHX69E	02/09/2025	11:26:35	Buy	IT.ico	MTA	TPRO	6.735	96	646.56
1ZAZHX69F	02/09/2025	11:26:35	Buy	IT.ico	MTA	TPRO	6.74	1,329	8957.46
1ZAZHX69G	02/09/2025	11:26:35	Buy	IT.ico	MTA	TPRO	6.75	250	1687.5
1ZAZHX69H	02/09/2025	11:26:35	Buy	IT.ico	MTA	TPRO	6.75	429	2895.75
1ZAZHX69I	02/09/2025	11:26:35	Buy	IT.ico	MTA	TPRO	6.75	2,500	16875
			1	IT.ico		TPRO		1	
1ZAZHX69J	02/09/2025	11:26:35	Buy		MTA	-	6.755	350	2364.25
1ZAZHX69K	02/09/2025	11:26:35	Buy	IT.ico	MTA	TPRO	6.76	1,650	11154
1ZAZHX69L	02/09/2025	11:26:35	Buy	IT.ico	MTA	TPRO	6.76	2,500	16900
1ZAZHX69M	02/09/2025	11:26:35	Buy	IT.ico	MTA	TPRO	6.76	5,835	39444.6
1ZAZHX6A3	02/09/2025	11:27:27	Buy	IT.ico	MTA	TPRO	6.73	15	100.95
1ZAZHX6AD	02/09/2025	11:27:49	Buy	IT.ico	MTA	TPRO	6.73	1,018	6851.14
1ZAZHX6AI	02/09/2025	11:27:57	Buy	IT.ico	MTA	TPRO	6.73	3,312	22289.76
1ZAZHX74F	02/09/2025	11:58:25	Buy	IT.ico	MTA	TPRO	6.73	84	565.32
1ZAZHX74G	02/09/2025	11:58:25	Buy	IT.ico	MTA	TPRO	6.73	5,571	37492.83
1ZAZHX9DS	02/09/2025	13:37:48	Buy	IT.ico	MTA	TPRO	6.71	1,000	6710
1ZAZHX9SG	02/09/2025	13:49:15	Buy	IT.ico	MTA	TPRO	6.7	1,000	6700
1ZAZHXA1E	02/09/2025	14:00:15	Buy	IT.ico	MTA	TPRO	6.705	138	925.29
1ZAZHXA1G	02/09/2025	14:00:24	Buy	IT.ico	MTA	TPRO	6.705	441	2956.905
1ZAZHXA49	02/09/2025	14:05:27	Buy	IT.ico	MTA	TPRO	6.72	44	295.68
1ZAZHXA4A	02/09/2025	14:05:27	Buy	IT.ico	MTA	TPRO	6.72	300	2016
1ZAZHXA4B	02/09/2025	14:05:27	Buy	IT.ico	MTA	TPRO	6.72	73	490.56
1ZAZHXA6B	02/09/2025	14:08:53	Buy	IT.ico	MTA	TPRO	6.7	1,000	6700
1ZAZHXAAD	02/09/2025	14:13:48	Buy	IT.ico	MTA	TPRO	6.685	1,000	6685
1ZAZHXAJC	02/09/2025	14:25:42	Buy	IT.ico	MTA	TPRO	6.685	340	2272.9
1ZAZHXAPJ	02/09/2025	14:28:23	Buy	IT.ico	MTA	TPRO	6.695	66	441.87
1ZAZHXAQ0	02/09/2025	14:29:05	Buy	IT.ico	MTA	TPRO	6.705	1,000	6705
1ZAZHXAY3	02/09/2025	14:36:35	Buy	IT.ico	MTA	TPRO	6.705	22	147.51
1ZAZHXAY4	02/09/2025	14:36:35	Buy	IT.ico	MTA	TPRO	6.705	127	851.535
1ZAZHXAY5	02/09/2025	14:36:35	Buy	IT.ico	MTA	TPRO	6.705	395	2648.475
1ZAZHXB4E	02/09/2025	14:39:28	Buy	IT.ico	MTA	TPRO	6.69	1,000	6690
1ZAZHXBCO	02/09/2025	14:43:57	Buy	IT.ico	MTA	TPRO	6.675	293	1955.775
1ZAZHXBK0	02/09/2025	14:49:59	Buy	IT.ico	MTA	TPRO	6.695	15	100.425
1ZAZHXBK1	02/09/2025	14:49:59	Buy	IT.ico	MTA	TPRO	6.695	53	354.835
1ZAZHXBK6	02/09/2025	14:50:24	Buy	IT.ico	MTA	TPRO	6.695	24	160.68
1ZAZHXBKB	02/09/2025	14:50:35	Buy	IT.ico	MTA	TPRO	6.695	19	127.205









1ZAZHXBKC	02/09/2025	14:50:42	Buy	IT.ico	MTA	TPRO	6.695	23	153.985
1ZAZHXBNN	02/09/2025	14:52:26	Buy	IT.ico	MTA	TPRO	6.69	1,000	6690
1ZAZHXBS3	02/09/2025	14:54:55	Buy	IT.ico	MTA	TPRO	6.685	467	3121.895
1ZAZHXBS4	02/09/2025	14:54:55	Buy	IT.ico	MTA	TPRO	6.685	533	3563.105
1ZAZHXC2X	02/09/2025	15:00:39	Buy	IT.ico	MTA	TPRO	6.63	891	5907.33
1ZAZHXCDD	02/09/2025	15:08:10	Buy	IT.ico	MTA	TPRO	6.64	1,000	6640
1ZAZHXCKX	02/09/2025	15:13:31	Buy	IT.ico	MTA	TPRO	6.63	1,000	6630
1ZAZHXCVR	02/09/2025	15:21:46	Buy	IT.ico	MTA	TPRO	6.615	1,000	6615
1ZAZHXD4W	02/09/2025	15:28:50	Buy	IT.ico	MTA	TPRO	6.605	234	1545.57
1ZAZHXD4X	02/09/2025	15:28:50	Buy	IT.ico	MTA	TPRO	6.605	3	19.815
1ZAZHXD59	02/09/2025	15:29:20	Buy	IT.ico	MTA	TPRO	6.61	2	13.22
1ZAZHXD6T	02/09/2025	15:30:07	Buy	IT.ico	MTA	TPRO	6.62	250	1655
1ZAZHXD6U	02/09/2025	15:30:07	Buy	IT.ico	MTA	TPRO	6.62	144	953.28
1ZAZHXDAM	02/09/2025	15:31:21	Buy	IT.ico	MTA	TPRO	6.62	850	5627
1ZAZHXDLY	02/09/2025	15:36:17	Buy	IT.ico	MTA	TPRO	6.64	18	119.52
1ZAZHXDM6	02/09/2025	15:36:28	Buy	IT.ico	MTA	TPRO	6.635	1,000	6635
1ZAZHXE69	02/09/2025	15:47:02	Buy	IT.ico	MTA	TPRO	6.67	21	140.07
1ZAZHXE85	02/09/2025	15:47:37	Buy	IT.ico	MTA	TPRO	6.67	61	406.87
1ZAZHXE86	02/09/2025	15:47:37	Buy	IT.ico	MTA	TPRO	6.67	939	6263.13
1ZAZHXE88	02/09/2025	15:47:37	Buy	IT.ico	MTA	TPRO	6.675	846	5647.05
1ZAZHXEC6	02/09/2025	15:49:15	Buy	IT.ico	MTA	TPRO	6.67	100	667
1ZAZHXEJU	02/09/2025	15:51:59	Buy	IT.ico	MTA	TPRO	6.695	850	5690.75
1ZAZHXEJV	02/09/2025	15:51:59	Buy	IT.ico	MTA	TPRO	6.7	150	1005
1ZAZHXEV9	02/09/2025	15:56:58	Buy	IT.ico	MTA	TPRO	6.67	1,000	6670
1ZAZHXF08	02/09/2025	15:59:37	Buy	IT.ico	MTA	TPRO	6.66	167	1112.22
1ZAZHXF60	02/09/2025	16:02:04	Buy	IT.ico	MTA	TPRO	6.66	375	2497.5
1ZAZHXF61	02/09/2025	16:02:04	Buy	IT.ico	MTA	TPRO	6.66	625	4162.5
1ZAZHXFBV	02/09/2025	16:04:48	Buy	IT.ico	MTA	TPRO	6.605	1,000	6605
1ZAZHXFMV	02/09/2025	16:09:45	Buy	IT.ico	MTA	TPRO	6.585	850	5597.25
1ZAZHXFMW	02/09/2025	16:09:45	Buy	IT.ico	MTA	TPRO	6.585	150	987.75
1ZAZHXFTR	02/09/2025	16:13:59	Buy	IT.ico	MTA	TPRO	6.59	1,000	6590
1ZAZHXG24	02/09/2025	16:18:32	Buy	IT.ico	MTA	TPRO	6.595	600	3957
1ZAZHXG25	02/09/2025	16:18:32	Buy	IT.ico	MTA	TPRO	6.595	400	2638
1ZAZHXGAS	02/09/2025	16:24:16	Buy	IT.ico	MTA	TPRO	6.605	1,000	6605
1ZAZHXGNB	02/09/2025	16:29:44	Buy	IT.ico	MTA	TPRO	6.615	250	1653.75
1ZAZHXGNC	02/09/2025	16:29:44	Buy	IT.ico	MTA	TPRO	6.615	536	3545.64
1ZAZHXGOM	02/09/2025	16:30:19	Buy	IT.ico	MTA	TPRO	6.61	1,000	6610
1ZAZHXGYF	02/09/2025	16:37:22	Buy	IT.ico	MTA	TPRO	6.6	447	2950.2









1ZAZHXGYG	02/09/2025	16:37:22	Buy	IT.ico	MTA	TPRO	6.6	553	3649.8
1ZAZHXH6A	02/09/2025	16:41:05	Buy	IT.ico	MTA	TPRO	6.59	374	2464.66
1ZAZHXH6B	02/09/2025	16:41:05	Buy	IT.ico	MTA	TPRO	6.59	626	4125.34
1ZAZHXHAN	02/09/2025	16:45:36	Buy	IT.ico	MTA	TPRO	6.595	4	26.38
1ZAZHXHB2	02/09/2025	16:45:40	Buy	IT.ico	MTA	TPRO	6.59	1,000	6590
1ZAZHXHFJ	02/09/2025	16:48:51	Buy	IT.ico	MTA	TPRO	6.575	719	4727.425
1ZAZHXHH5	02/09/2025	16:50:50	Buy	IT.ico	MTA	TPRO	6.575	748	4918.1
1ZAZHXHH6	02/09/2025	16:50:50	Buy	IT.ico	MTA	TPRO	6.575	50	328.75
1ZAZHXHH7	02/09/2025	16:50:50	Buy	IT.ico	MTA	TPRO	6.575	202	1328.15
1ZAZHXHO8	02/09/2025	16:54:12	Buy	IT.ico	MTA	TPRO	6.575	564	3708.3
1ZAZHXHS9	02/09/2025	16:57:29	Buy	IT.ico	MTA	TPRO	6.57	122	801.54
1ZAZHXHUF	02/09/2025	16:59:26	Buy	IT.ico	MTA	TPRO	6.58	701	4612.58
1ZAZHXHUG	02/09/2025	16:59:26	Buy	IT.ico	MTA	TPRO	6.58	299	1967.42
1ZAZHXI0L	02/09/2025	17:01:45	Buy	IT.ico	MTA	TPRO	6.565	1,000	6565
1ZAZHXI8F	02/09/2025	17:06:42	Buy	IT.ico	MTA	TPRO	6.555	478	3133.29
1ZAZHXI8G	02/09/2025	17:06:42	Buy	IT.ico	MTA	TPRO	6.555	250	1638.75
1ZAZHXIF2	02/09/2025	17:10:55	Buy	IT.ico	MTA	TPRO	6.56	325	2132
1ZAZHXIF3	02/09/2025	17:10:55	Buy	IT.ico	MTA	TPRO	6.56	277	1817.12
1ZAZHXIF4	02/09/2025	17:10:55	Buy	IT.ico	MTA	TPRO	6.56	2	13.12
1ZAZHXIH1	02/09/2025	17:12:01	Buy	IT.ico	MTA	TPRO	6.555	38	249.09
1ZAZHXIJF	02/09/2025	17:13:35	Buy	IT.ico	MTA	TPRO	6.56	2	13.12
1ZAZHXIJG	02/09/2025	17:13:35	Buy	IT.ico	MTA	TPRO	6.56	22	144.32
1ZAZHXIJH	02/09/2025	17:13:35	Buy	IT.ico	MTA	TPRO	6.56	638	4185.28
1ZAZHXINY	02/09/2025	17:14:59	Buy	IT.ico	MTA	TPRO	6.56	218	1430.08
1ZAZHXINZ	02/09/2025	17:14:59	Buy	IT.ico	MTA	TPRO	6.56	670	4395.2
1ZAZHXIYL	02/09/2025	17:18:28	Buy	IT.ico	MTA	TPRO	6.555	780	5112.9
1ZAZHXIYM	02/09/2025	17:18:28	Buy	IT.ico	MTA	TPRO	6.555	206	1350.33
1ZAZHXSM5	03/09/2025	12:12:01	Buy	IT.ico	MTA	TPRO	6.675	200	1335
1ZAZHXSM6	03/09/2025	12:12:01	Buy	IT.ico	MTA	TPRO	6.675	1,300	8677.5
1ZAZHXSM7	03/09/2025	12:12:01	Buy	IT.ico	MTA	TPRO	6.675	1,300	8677.5
1ZAZHXSPO	03/09/2025	12:17:17	Buy	IT.ico	MTA	TPRO	6.675	200	1335
1ZAZHXSSG	03/09/2025	12:22:31	Buy	IT.ico	MTA	TPRO	6.675	200	1335
1ZAZHXSSN	03/09/2025	12:22:37	Buy	IT.ico	MTA	TPRO	6.675	20	133.5
1ZAZHXST7	03/09/2025	12:24:17	Buy	IT.ico	MTA	TPRO	6.675	22	146.85
1ZAZHXSV0	03/09/2025	12:25:57	Buy	IT.ico	MTA	TPRO	6.675	22	146.85
1ZAZHXSXF	03/09/2025	12:27:37	Buy	IT.ico	MTA	TPRO	6.675	21	140.175
1ZAZHXSXI	03/09/2025	12:28:00	Buy	IT.ico	MTA	TPRO	6.675	28	186.9
1ZAZHXSY2	03/09/2025	12:29:17	Buy	IT.ico	MTA	TPRO	6.675	8	53.4









4747111/01/11	00/00/0005	10.00.10	_	· · ·	N.4T.A	TDDO	0.075		100.0
1ZAZHXSYU	03/09/2025	12:30:18	Buy	IT.ico	MTA	TPRO	6.675	28	186.9
1ZAZHXSZ2	03/09/2025	12:30:30	Buy	IT.ico	MTA	TPRO	6.675	10	66.75
1ZAZHXT1R	03/09/2025	12:33:32	Buy	IT.ico	MTA	TPRO	6.675	200	1335
1ZAZHXT1S	03/09/2025	12:33:34	Buy	IT.ico	MTA	TPRO	6.675	24	160.2
1ZAZHXTGS	03/09/2025	12:51:17	Buy	IT.ico	MTA	TPRO	6.675	200	1335
1ZAZHXTM2	03/09/2025	12:57:34	Buy	IT.ico	MTA	TPRO	6.675	200	1335
1ZAZHXTM3	03/09/2025	12:57:34	Buy	IT.ico	MTA	TPRO	6.675	517	3450.975
1ZAZHXTM8	03/09/2025	12:57:34	Buy	IT.ico	MTA	TPRO	6.675	837	5586.975
1ZAZHXTMC	03/09/2025	12:57:34	Buy	IT.ico	MTA	TPRO	6.675	663	4425.525
1ZAZHXTMD	03/09/2025	12:57:34	Buy	IT.ico	MTA	TPRO	6.675	574	3831.45
1ZAZHXTMT	03/09/2025	12:58:08	Buy	IT.ico	MTA	TPRO	6.675	309	2062.575
1ZAZHXU66	03/09/2025	13:30:40	Buy	IT.ico	MTA	TPRO	6.675	200	1335
1ZAZHXUBG	03/09/2025	13:36:42	Buy	IT.ico	MTA	TPRO	6.675	200	1335
1ZAZHXUNS	03/09/2025	13:44:20	Buy	IT.ico	MTA	TPRO	6.675	94	627.45
1ZAZHXUSQ	03/09/2025	13:53:59	Buy	IT.ico	MTA	TPRO	6.675	175	1168.125
1ZAZHXUSY	03/09/2025	13:55:20	Buy	IT.ico	MTA	TPRO	6.675	73	487.275
1ZAZHXUUZ	03/09/2025	13:59:06	Buy	IT.ico	MTA	TPRO	6.675	200	1335
1ZAZHXUY6	03/09/2025	14:04:18	Buy	IT.ico	MTA	TPRO	6.675	200	1335
1ZAZHXVE0	03/09/2025	14:29:07	Buy	IT.ico	MTA	TPRO	6.675	49	327.075
1ZAZHXVEG	03/09/2025	14:29:58	Buy	IT.ico	MTA	TPRO	6.675	1,500	10012.5
1ZAZHXVEH	03/09/2025	14:29:58	Buy	IT.ico	MTA	TPRO	6.675	426	2843.55
1ZAZHXWVN	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.675	250	1668.75
1ZAZHXWVO	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.675	159	1061.325
1ZAZHXWVP	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.675	136	907.8
1ZAZHXWVQ	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.68	171	1142.28
1ZAZHXWVR	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.68	162	1082.16
1ZAZHXWVS	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.68	10	66.8
1ZAZHXWVT	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.68	200	1336
1ZAZHXWVU	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.68	119	794.92
1ZAZHXWVV	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.685	135	902.475
1ZAZHXWVW	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.685	5	33.425
1ZAZHXWVX	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.685	89	594.965
1ZAZHXWVY	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.685	4,880	32622.8
1ZAZHXWVZ	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.685	4,120	27542.2
1ZAZHXWW0	03/09/2025	15:26:00	Buy	IT.ico	MTA	TPRO	6.685	1,564	10455.34
1ZAZHXWXT	03/09/2025	15:27:31	Buy	IT.ico	MTA	TPRO	6.67	1	6.67
1ZAZHXWXU	03/09/2025	15:27:31	Buy	IT.ico	MTA	TPRO	6.675	121	807.675
1ZAZHXWXV	03/09/2025	15:27:31	Buy	IT.ico	MTA	TPRO	6.675	256	1708.8









1ZAZHXWXW	03/09/2025	15:27:31	Buy	IT.ico	MTA	TPRO	6.675	123	821.025
1ZAZHXWXX	03/09/2025	15:27:31	Buy	IT.ico	MTA	TPRO	6.68	121	808.28
1ZAZHXWXY	03/09/2025	15:27:31	Buy	IT.ico	MTA	TPRO	6.68	3,955	26419.4
1ZAZHXWXZ	03/09/2025	15:27:31	Buy	IT.ico	MTA	TPRO	6.68	5,483	36626.44
1ZAZHXWY0	03/09/2025	15:27:31	Buy	IT.ico	MTA	TPRO	6.68	940	6279.2
1ZAZHXX6N	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.655	90	598.95
1ZAZHXX6O	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.655	58	385.99
1ZAZHXX6P	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.655	175	1164.625
1ZAZHXX6Q	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.655	780	5190.9
1ZAZHXX6R	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.655	200	1331
1ZAZHXX6S	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.66	250	1665
1ZAZHXX6T	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.66	141	939.06
1ZAZHXX6U	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.66	139	925.74
1ZAZHXX6V	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.66	658	4382.28
1ZAZHXX6W	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.665	135	899.775
1ZAZHXX6X	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.665	1,068	7118.22
1ZAZHXX6Y	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.665	994	6625.01
1ZAZHXX6Z	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.665	4,866	32431.89
1ZAZHXX70	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.665	4,873	32478.55
1ZAZHXX71	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.665	139	926.435
1ZAZHXX72	03/09/2025	15:33:21	Buy	IT.ico	MTA	TPRO	6.665	434	2892.61
1ZAZHXXBZ	03/09/2025	15:35:44	Buy	IT.ico	MTA	TPRO	6.65	2,000	13300
1ZAZHXYGO	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.655	174	1157.97
1ZAZHXYGP	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.655	103	685.465
1ZAZHXYGQ	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.655	200	1331
1ZAZHXYGR	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.66	116	772.56
1ZAZHXYGS	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.665	1	6.665
1ZAZHXYGT	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.665	120	799.8
1ZAZHXYGU	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.665	5,421	36130.97
1ZAZHXYGV	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.665	5,116	34098.14
1ZAZHXYGW	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.665	161	1073.065
1ZAZHXYGY	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.665	565	3765.725
1ZAZHXYGZ	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.665	34	226.61
1ZAZHXYH0	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.665	2,458	16382.57
1ZAZHXYH1	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.665	250	1666.25
1ZAZHXYH2	03/09/2025	15:57:35	Buy	IT.ico	MTA	TPRO	6.665	281	1872.865
1ZAZHXZ1T	03/09/2025	16:14:26	Buy	IT.ico	MTA	TPRO	6.635	1	6.635
1ZAZHXZ1U	03/09/2025	16:14:26	Buy	IT.ico	MTA	TPRO	6.635	272	1804.72









1ZAZHXZ1V	03/09/2025	16:14:26	Buy	IT.ico	MTA	TPRO	6.635	127	842.645
1ZAZHXZ1W	03/09/2025	16:14:26	Buy	IT.ico	MTA	TPRO	6.635	200	1327
1ZAZHXZ1X	03/09/2025	16:14:26	Buy	IT.ico	MTA	TPRO	6.64	894	5936.16
1ZAZHXZ1Y	03/09/2025	16:14:26	Buy	IT.ico	MTA	TPRO	6.64	138	916.32
1ZAZHXZ1Z	03/09/2025	16:14:26	Buy	IT.ico	MTA	TPRO	6.64	3,765	24999.6
1ZAZHXZ20	03/09/2025	16:14:26	Buy	IT.ico	MTA	TPRO	6.645	82	544.89
1ZAZHXZ21	03/09/2025	16:14:26	Buy	IT.ico	MTA	TPRO	6.645	117	777.465
1ZAZHXZ22	03/09/2025	16:14:26	Buy	IT.ico	MTA	TPRO	6.645	857	5694.765
1ZAZHXZ23	03/09/2025	16:14:26	Buy	IT.ico	MTA	TPRO	6.645	547	3634.815
1ZAZHXZ26	03/09/2025	16:14:30	Buy	IT.ico	MTA	TPRO	6.64	341	2264.24
1ZAZHXZ27	03/09/2025	16:14:30	Buy	IT.ico	MTA	TPRO	6.64	130	863.2
1ZAZHXZ28	03/09/2025	16:14:30	Buy	IT.ico	MTA	TPRO	6.645	3,759	24978.56
1ZAZHXZ29	03/09/2025	16:14:30	Buy	IT.ico	MTA	TPRO	6.645	138	917.01
1ZAZHXZ2A	03/09/2025	16:14:30	Buy	IT.ico	MTA	TPRO	6.645	2,632	17489.64
1ZAZHXZ2E	03/09/2025	16:14:39	Buy	IT.ico	MTA	TPRO	6.635	139	922.265
1ZAZHXZ2F	03/09/2025	16:14:39	Buy	IT.ico	MTA	TPRO	6.635	336	2229.36
1ZAZHXZ2G	03/09/2025	16:14:39	Buy	IT.ico	MTA	TPRO	6.64	122	810.08
1ZAZHXZ2H	03/09/2025	16:14:39	Buy	IT.ico	MTA	TPRO	6.645	3,759	24978.56
1ZAZHXZ2I	03/09/2025	16:14:39	Buy	IT.ico	MTA	TPRO	6.645	909	6040.305
1ZAZHXZ2J	03/09/2025	16:14:39	Buy	IT.ico	MTA	TPRO	6.645	141	936.945
1ZAZHXZ2K	03/09/2025	16:14:39	Buy	IT.ico	MTA	TPRO	6.645	594	3947.13
1ZAZHXZAY	03/09/2025	16:20:20	Buy	IT.ico	MTA	TPRO	6.63	2	13.26
1ZAZHXZAZ	03/09/2025	16:20:20	Buy	IT.ico	MTA	TPRO	6.63	202	1339.26
1ZAZHXZB0	03/09/2025	16:20:20	Buy	IT.ico	MTA	TPRO	6.635	121	802.835
1ZAZHXZB1	03/09/2025	16:20:20	Buy	IT.ico	MTA	TPRO	6.635	300	1990.5
1ZAZHXZB2	03/09/2025	16:20:20	Buy	IT.ico	MTA	TPRO	6.64	140	929.6
1ZAZHXZB3	03/09/2025	16:20:20	Buy	IT.ico	MTA	TPRO	6.64	65	431.6
1ZAZHXZB4	03/09/2025	16:20:20	Buy	IT.ico	MTA	TPRO	6.64	1,008	6693.12
1ZAZHXZB5	03/09/2025	16:20:20	Buy	IT.ico	MTA	TPRO	6.64	1,072	7118.08
1ZAZHXZB6	03/09/2025	16:20:20	Buy	IT.ico	MTA	TPRO	6.64	5,556	36891.84
1ZAZHXZB7	03/09/2025	16:20:20	Buy	IT.ico	MTA	TPRO	6.64	6,534	43385.76
1ZAZHXZMS	03/09/2025	16:25:36	Buy	IT.ico	MTA	TPRO	6.62	38	251.56
1ZAZHXZPA	03/09/2025	16:29:58	Buy	IT.ico	MTA	TPRO	6.62	13	86.06
1ZAZHXZPB	03/09/2025	16:29:58	Buy	IT.ico	MTA	TPRO	6.62	987	6533.94
1ZAZHXZPH	03/09/2025	16:30:00	Buy	IT.ico	MTA	TPRO	6.62	48	317.76
1ZAZHXZQ5	03/09/2025	16:30:19	Buy	IT.ico	MTA	TPRO	6.62	317	2098.54
1ZAZHXZQ6	03/09/2025	16:30:19	Buy	IT.ico	MTA	TPRO	6.62	683	4521.46
1ZAZHXZQ7	03/09/2025	16:30:20	Buy	IT.ico	MTA	TPRO	6.62	30	198.6









1ZAZHXZQE	03/09/2025	16:30:42	Buy	IT.ico	MTA	TPRO	6.62	200	1324
1ZAZHXZQP	03/09/2025	16:31:09	Buy	IT.ico	MTA	TPRO	6.62	120	794.4
1ZAZHXZS7	03/09/2025	16:33:05	Buy	IT.ico	MTA	TPRO	6.62	200	1324
1ZAZHXZS9	03/09/2025	16:33:05	Buy	IT.ico	MTA	TPRO	6.62	1,000	6620
1ZAZHXZSC	03/09/2025	16:33:05	Buy	IT.ico	MTA	TPRO	6.62	200	1324
1ZAZHXZSL	03/09/2025	16:34:03	Buy	IT.ico	MTA	TPRO	6.625	200	1325
1ZAZHXZTS	03/09/2025	16:34:37	Buy	IT.ico	MTA	TPRO	6.625	410	2716.25
1ZAZHXZU5	03/09/2025	16:34:38	Buy	IT.ico	MTA	TPRO	6.635	79	524.165
1ZAZHXZU6	03/09/2025	16:34:38	Buy	IT.ico	MTA	TPRO	6.635	458	3038.83
1ZAZHXZU7	03/09/2025	16:34:38	Buy	IT.ico	MTA	TPRO	6.635	1	6.635
1ZAZHXZU8	03/09/2025	16:34:38	Buy	IT.ico	MTA	TPRO	6.635	14	92.89
1ZAZHXZU9	03/09/2025	16:34:38	Buy	IT.ico	MTA	TPRO	6.635	1	6.635
1ZAZHXZUA	03/09/2025	16:34:38	Buy	IT.ico	MTA	TPRO	6.635	12	79.62
1ZAZHXZUB	03/09/2025	16:34:38	Buy	IT.ico	MTA	TPRO	6.635	1	6.635
1ZAZHXZUN	03/09/2025	16:35:17	Buy	IT.ico	MTA	TPRO	6.635	200	1327
1ZAZHXZUQ	03/09/2025	16:35:22	Buy	IT.ico	MTA	TPRO	6.635	13	86.255
1ZAZHXZV1	03/09/2025	16:35:49	Buy	IT.ico	MTA	TPRO	6.635	100	663.5
1ZAZHXZV2	03/09/2025	16:35:54	Buy	IT.ico	MTA	TPRO	6.635	228	1512.78
1ZAZHXZVB	03/09/2025	16:36:23	Buy	IT.ico	MTA	TPRO	6.635	500	3317.5
1ZAZHXZVC	03/09/2025	16:36:23	Buy	IT.ico	MTA	TPRO	6.635	500	3317.5
1ZAZHXZVE	03/09/2025	16:36:25	Buy	IT.ico	MTA	TPRO	6.635	34	225.59
1ZAZHXZVF	03/09/2025	16:36:25	Buy	IT.ico	MTA	TPRO	6.635	175	1161.125
1ZAZHXZVG	03/09/2025	16:36:25	Buy	IT.ico	MTA	TPRO	6.635	791	5248.285
1ZAZHXZVK	03/09/2025	16:36:28	Buy	IT.ico	MTA	TPRO	6.635	338	2242.63
1ZAZHXZVM	03/09/2025	16:36:33	Buy	IT.ico	MTA	TPRO	6.635	1,000	6635
1ZAZHXZVQ	03/09/2025	16:36:57	Buy	IT.ico	MTA	TPRO	6.63	1,000	6630
1ZAZHXZWC	03/09/2025	16:38:14	Buy	IT.ico	MTA	TPRO	6.635	131	869.185
1ZAZHXZWD	03/09/2025	16:38:15	Buy	IT.ico	MTA	TPRO	6.635	100	663.5
1ZAZHXZXB	03/09/2025	16:38:22	Buy	IT.ico	MTA	TPRO	6.635	90	597.15
1ZAZHXZXX	03/09/2025	16:38:57	Buy	IT.ico	MTA	TPRO	6.635	120	796.2
1ZAZHXZYN	03/09/2025	16:39:08	Buy	IT.ico	MTA	TPRO	6.64	920	6108.8
1ZAZHXZYO	03/09/2025	16:39:08	Buy	IT.ico	MTA	TPRO	6.64	80	531.2
1ZAZHXZYP	03/09/2025	16:39:10	Buy	IT.ico	MTA	TPRO	6.64	1,000	6640
1ZAZHY00Y	03/09/2025	16:41:03	Buy	IT.ico	MTA	TPRO	6.64	117	776.88
1ZAZHY04H	03/09/2025	16:45:12	Buy	IT.ico	MTA	TPRO	6.64	1,000	6640
1ZAZHY04I	03/09/2025	16:45:12	Buy	IT.ico	MTA	TPRO	6.64	250	1660
1ZAZHY04J	03/09/2025	16:45:12	Buy	IT.ico	MTA	TPRO	6.64	379	2516.56
1ZAZHY04K	03/09/2025	16:45:12	Buy	IT.ico	MTA	TPRO	6.64	50	332









1ZAZHY04L	03/09/2025	16:45:12	Buy	IT.ico	MTA	TPRO	6.64	321	2131.44
1ZAZHY04M	03/09/2025	16:45:13	Buy	IT.ico	MTA	TPRO	6.64	200	1328
1ZAZHY05W	03/09/2025	16:45:51	Buy	IT.ico	MTA	TPRO	6.63	1,000	6630
1ZAZHY06J	03/09/2025	16:45:56	Buy	IT.ico	MTA	TPRO	6.63	1,000	6630
1ZAZHY06Q	03/09/2025	16:45:57	Buy	IT.ico	MTA	TPRO	6.63	17	112.71
1ZAZHY06R	03/09/2025	16:45:57	Buy	IT.ico	MTA	TPRO	6.63	983	6517.29
1ZAZHY06S	03/09/2025	16:46:06	Buy	IT.ico	MTA	TPRO	6.63	100	663
1ZAZHY06T	03/09/2025	16:46:06	Buy	IT.ico	MTA	TPRO	6.63	900	5967
1ZAZHY073	03/09/2025	16:46:58	Buy	IT.ico	MTA	TPRO	6.63	1,000	6630
1ZAZHY07X	03/09/2025	16:47:37	Buy	IT.ico	MTA	TPRO	6.625	10	66.25
1ZAZHY0AD	03/09/2025	16:49:04	Buy	IT.ico	MTA	TPRO	6.625	1,000	6625
1ZAZHY0AG	03/09/2025	16:49:04	Buy	IT.ico	MTA	TPRO	6.62	100	662
1ZAZHY0AH	03/09/2025	16:49:04	Buy	IT.ico	MTA	TPRO	6.625	553	3663.625
1ZAZHY0AI	03/09/2025	16:49:04	Buy	IT.ico	MTA	TPRO	6.625	84	556.5
1ZAZHY0AJ	03/09/2025	16:49:04	Buy	IT.ico	MTA	TPRO	6.625	7	46.375
1ZAZHY0AK	03/09/2025	16:49:04	Buy	IT.ico	MTA	TPRO	6.625	6	39.75
1ZAZHY0AL	03/09/2025	16:49:04	Buy	IT.ico	MTA	TPRO	6.625	250	1656.25
1ZAZHY0AY	03/09/2025	16:49:35	Buy	IT.ico	MTA	TPRO	6.625	12	79.5
1ZAZHY0BD	03/09/2025	16:50:57	Buy	IT.ico	MTA	TPRO	6.625	12	79.5
1ZAZHY0CM	03/09/2025	16:52:37	Buy	IT.ico	MTA	TPRO	6.625	968	6413
1ZAZHY0DA	03/09/2025	16:53:27	Buy	IT.ico	MTA	TPRO	6.625	58	384.25
1ZAZHY0DH	03/09/2025	16:53:31	Buy	IT.ico	MTA	TPRO	6.635	489	3244.515
1ZAZHY0DI	03/09/2025	16:53:31	Buy	IT.ico	MTA	TPRO	6.635	267	1771.545
1ZAZHY0DJ	03/09/2025	16:53:31	Buy	IT.ico	MTA	TPRO	6.635	152	1008.52
1ZAZHY0DK	03/09/2025	16:53:31	Buy	IT.ico	MTA	TPRO	6.635	92	610.42
1ZAZHY0DL	03/09/2025	16:53:31	Buy	IT.ico	MTA	TPRO	6.635	123	816.105
1ZAZHY0DM	03/09/2025	16:53:31	Buy	IT.ico	MTA	TPRO	6.635	121	802.835
1ZAZHY0DN	03/09/2025	16:53:32	Buy	IT.ico	MTA	TPRO	6.63	1,000	6630
1ZAZHY0DO	03/09/2025	16:53:35	Buy	IT.ico	MTA	TPRO	6.63	1,000	6630
1ZAZHY0EG	03/09/2025	16:54:05	Buy	IT.ico	MTA	TPRO	6.625	1,000	6625
1ZAZHY0EX	03/09/2025	16:54:44	Buy	IT.ico	MTA	TPRO	6.615	1,000	6615
1ZAZHY0GB	03/09/2025	16:55:52	Buy	IT.ico	MTA	TPRO	6.61	92	608.12
1ZAZHY0GC	03/09/2025	16:55:52	Buy	IT.ico	MTA	TPRO	6.61	789	5215.29
1ZAZHY0H9	03/09/2025	16:57:18	Buy	IT.ico	MTA	TPRO	6.605	200	1321
1ZAZHY0KZ	03/09/2025	16:59:47	Buy	IT.ico	MTA	TPRO	6.605	120	792.6
1ZAZHY0L4	03/09/2025	16:59:49	Buy	IT.ico	MTA	TPRO	6.605	480	3170.4
1ZAZHY0L5	03/09/2025	16:59:53	Buy	IT.ico	MTA	TPRO	6.605	500	3302.5
1ZAZHY0L6	03/09/2025	16:59:55	Buy	IT.ico	MTA	TPRO	6.605	819	5409.495









1ZAZHY0L7	03/09/2025	16:59:55	Buy	IT.ico	MTA	TPRO	6.605	181	1195.505
1ZAZHY0MX	03/09/2025	17:00:49	Buy	IT.ico	MTA	TPRO	6.605	178	1175.69
1ZAZHY0MY	03/09/2025	17:00:49	Buy	IT.ico	MTA	TPRO	6.605	820	5416.1
1ZAZHY0N6	03/09/2025	17:01:01	Buy	IT.ico	MTA	TPRO	6.605	1	6.605
1ZAZHY0O8	03/09/2025	17:01:37	Buy	IT.ico	MTA	TPRO	6.605	280	1849.4
1ZAZHY0O9	03/09/2025	17:01:39	Buy	IT.ico	MTA	TPRO	6.605	120	792.6
1ZAZHY0PA	03/09/2025	17:02:08	Buy	IT.ico	MTA	TPRO	6.605	200	1321
1ZAZHY0Q6	03/09/2025	17:02:48	Buy	IT.ico	MTA	TPRO	6.605	148	977.54
1ZAZHY0QC	03/09/2025	17:02:56	Buy	IT.ico	MTA	TPRO	6.605	420	2774.1
1ZAZHY0QQ	03/09/2025	17:03:25	Buy	IT.ico	MTA	TPRO	6.605	1,000	6605
1ZAZHY0QU	03/09/2025	17:03:29	Buy	IT.ico	MTA	TPRO	6.61	36	237.96
1ZAZHY0QV	03/09/2025	17:03:29	Buy	IT.ico	MTA	TPRO	6.61	200	1322
1ZAZHY0RF	03/09/2025	17:03:44	Buy	IT.ico	MTA	TPRO	6.605	320	2113.6
1ZAZHY0RG	03/09/2025	17:03:44	Buy	IT.ico	MTA	TPRO	6.605	680	4491.4
1ZAZHY0SE	03/09/2025	17:04:23	Buy	IT.ico	MTA	TPRO	6.6	1,000	6600
1ZAZHY0TU	03/09/2025	17:06:00	Buy	IT.ico	MTA	TPRO	6.6	127	838.2
1ZAZHY0TV	03/09/2025	17:06:00	Buy	IT.ico	MTA	TPRO	6.6	200	1320
1ZAZHY0TW	03/09/2025	17:06:00	Buy	IT.ico	MTA	TPRO	6.6	46	303.6
1ZAZHY0V3	03/09/2025	17:06:59	Buy	IT.ico	MTA	TPRO	6.6	1	6.6
1ZAZHY0V4	03/09/2025	17:07:00	Buy	IT.ico	MTA	TPRO	6.6	369	2435.4
1ZAZHY0V5	03/09/2025	17:07:04	Buy	IT.ico	MTA	TPRO	6.595	1,000	6595
1ZAZHY0VR	03/09/2025	17:07:54	Buy	IT.ico	MTA	TPRO	6.59	435	2866.65
1ZAZHY0VS	03/09/2025	17:07:54	Buy	IT.ico	MTA	TPRO	6.59	565	3723.35
1ZAZHY0WJ	03/09/2025	17:09:05	Buy	IT.ico	MTA	TPRO	6.59	1	6.59
1ZAZHY0X7	03/09/2025	17:09:11	Buy	IT.ico	MTA	TPRO	6.59	1	6.59
1ZAZHY0XA	03/09/2025	17:09:20	Buy	IT.ico	MTA	TPRO	6.585	499	3285.915
1ZAZHY0XQ	03/09/2025	17:09:43	Buy	IT.ico	MTA	TPRO	6.585	784	5162.64
1ZAZHY0ZI	03/09/2025	17:11:31	Buy	IT.ico	MTA	TPRO	6.58	1,000	6580
1ZAZHY0ZK	03/09/2025	17:11:31	Buy	IT.ico	MTA	TPRO	6.58	1,000	6580
1ZAZHY125	03/09/2025	17:13:07	Buy	IT.ico	MTA	TPRO	6.58	791	5204.78
1ZAZHY126	03/09/2025	17:13:07	Buy	IT.ico	MTA	TPRO	6.58	209	1375.22
1ZAZHY14J	03/09/2025	17:14:02	Buy	IT.ico	MTA	TPRO	6.57	1,000	6570
1ZAZHY16M	03/09/2025	17:15:02	Buy	IT.ico	MTA	TPRO	6.56	838	5497.28
1ZAZHY16N	03/09/2025	17:15:02	Buy	IT.ico	MTA	TPRO	6.56	21	137.76
1ZAZHY16O	03/09/2025	17:15:02	Buy	IT.ico	MTA	TPRO	6.56	141	924.96
1ZAZHY1AD	03/09/2025	17:16:31	Buy	IT.ico	MTA	TPRO	6.56	33	216.48
1ZAZHY1AE	03/09/2025	17:16:31	Buy	IT.ico	MTA	TPRO	6.56	963	6317.28
1ZAZHY1B4	03/09/2025	17:17:12	Buy	IT.ico	MTA	TPRO	6.56	1,000	6560









1ZAZHY1E6	03/09/2025	17:18:48	Buy	IT.ico	MTA	TPRO	6.555	1,000	6555
1ZAZHY1E7	03/09/2025	17:18:48	Buy	IT.ico	MTA	TPRO	6.555	1,000	6555
1ZAZHY1F9	03/09/2025	17:19:11	Buy	IT.ico	MTA	TPRO	6.55	439	2875.45
1ZAZHY1NK	03/09/2025	17:24:55	Buy	IT.ico	MTA	TPRO	6.54	12	78.48
1ZAZHY1NL	03/09/2025	17:24:55	Buy	IT.ico	MTA	TPRO	6.54	360	2354.4
1ZAZHY1NM	03/09/2025	17:24:55	Buy	IT.ico	MTA	TPRO	6.54	147	961.38
1ZAZHY1NN	03/09/2025	17:24:55	Buy	IT.ico	MTA	TPRO	6.54	69	451.26
1ZAZHY1NO	03/09/2025	17:24:55	Buy	IT.ico	MTA	TPRO	6.54	254	1661.16
1ZAZHY1S3	03/09/2025	17:26:43	Buy	IT.ico	MTA	TPRO	6.555	45	294.975
1ZAZHY1S4	03/09/2025	17:26:43	Buy	IT.ico	MTA	TPRO	6.555	45	294.975
1ZAZHY1S5	03/09/2025	17:26:43	Buy	IT.ico	MTA	TPRO	6.555	700	4588.5
1ZAZHY1S6	03/09/2025	17:26:43	Buy	IT.ico	MTA	TPRO	6.555	210	1376.55
1ZAZHY1S7	03/09/2025	17:26:45	Buy	IT.ico	MTA	TPRO	6.555	126	825.93
1ZAZHY1SA	03/09/2025	17:26:46	Buy	IT.ico	MTA	TPRO	6.545	500	3272.5
1ZAZHY1UG	03/09/2025	17:27:45	Buy	IT.ico	MTA	TPRO	6.545	297	1943.865
1ZAZHY1VU	03/09/2025	17:28:13	Buy	IT.ico	MTA	TPRO	6.565	1,000	6565
1ZAZHY1VW	03/09/2025	17:28:15	Buy	IT.ico	MTA	TPRO	6.565	1,000	6565
1ZAZHY1VX	03/09/2025	17:28:17	Buy	IT.ico	MTA	TPRO	6.565	1,000	6565
1ZAZHY1VY	03/09/2025	17:28:19	Buy	IT.ico	MTA	TPRO	6.565	110	722.15
1ZAZHY1VZ	03/09/2025	17:28:19	Buy	IT.ico	MTA	TPRO	6.565	94	617.11
1ZAZHY1W1	03/09/2025	17:28:23	Buy	IT.ico	MTA	TPRO	6.565	1,000	6565
1ZAZHY1W2	03/09/2025	17:28:23	Buy	IT.ico	MTA	TPRO	6.565	1,000	6565
1ZAZHY1XB	03/09/2025	17:28:38	Buy	IT.ico	MTA	TPRO	6.56	31	203.36
1ZAZHY91T	04/09/2025	11:07:31	Buy	IT.ico	MTA	TPRO	6.6	3,000	19800
1ZAZHY91U	04/09/2025	11:07:31	Buy	IT.ico	MTA	TPRO	6.6	164	1082.4
1ZAZHY91V	04/09/2025	11:07:31	Buy	IT.ico	MTA	TPRO	6.605	38	250.99
1ZAZHY91W	04/09/2025	11:07:31	Buy	IT.ico	MTA	TPRO	6.615	913	6039.495
1ZAZHY91X	04/09/2025	11:07:31	Buy	IT.ico	MTA	TPRO	6.615	2,267	14996.21
1ZAZHY91Y	04/09/2025	11:07:31	Buy	IT.ico	MTA	TPRO	6.615	618	4088.07
1ZAZHY91Z	04/09/2025	11:07:38	Buy	IT.ico	MTA	TPRO	6.615	1,262	8348.13
1ZAZHY920	04/09/2025	11:07:38	Buy	IT.ico	MTA	TPRO	6.615	260	1719.9
1ZAZHY921	04/09/2025	11:07:38	Buy	IT.ico	MTA	TPRO	6.62	103	681.86
1ZAZHY922	04/09/2025	11:07:38	Buy	IT.ico	MTA	TPRO	6.62	4,950	32769
1ZAZHY923	04/09/2025	11:07:38	Buy	IT.ico	MTA	TPRO	6.62	425	2813.5
1ZAZHY927	04/09/2025	11:07:42	Buy	IT.ico	MTA	TPRO	6.615	462	3056.13
1ZAZHY928	04/09/2025	11:07:42	Buy	IT.ico	MTA	TPRO	6.62	6,538	43281.56
1ZAZHY92T	04/09/2025	11:08:11	Buy	IT.ico	MTA	TPRO	6.605	250	1651.25
1ZAZHY92U	04/09/2025	11:08:11	Buy	IT.ico	MTA	TPRO	6.615	894	5913.81









1ZAZHY92V	04/09/2025	11:08:11	Buy	IT.ico	MTA	TPRO	6.615	1,105	7309.575
1ZAZHY92W	04/09/2025	11:08:11	Buy	IT.ico	MTA	TPRO	6.62	2,537	16794.94
1ZAZHY92X	04/09/2025	11:08:11	Buy	IT.ico	MTA	TPRO	6.62	3,550	23501
1ZAZHY92Y	04/09/2025	11:08:11	Buy	IT.ico	MTA	TPRO	6.62	1,077	7129.74
1ZAZHY92Z	04/09/2025	11:08:11	Buy	IT.ico	MTA	TPRO	6.62	587	3885.94
1ZAZHYDKW	04/09/2025	13:01:20	Buy	IT.ico	MTA	TPRO	6.57	54	354.78
1ZAZHYDKX	04/09/2025	13:01:20	Buy	IT.ico	MTA	TPRO	6.57	296	1944.72
1ZAZHYDKY	04/09/2025	13:01:20	Buy	IT.ico	MTA	TPRO	6.58	147	967.26
1ZAZHYDKZ	04/09/2025	13:01:20	Buy	IT.ico	MTA	TPRO	6.58	1,279	8415.82
1ZAZHYDL0	04/09/2025	13:01:20	Buy	IT.ico	MTA	TPRO	6.58	105	690.9
1ZAZHYDL1	04/09/2025	13:01:20	Buy	IT.ico	MTA	TPRO	6.58	7,119	46843.02
1ZAZHYH2M	04/09/2025	14:39:56	Buy	IT.ico	MTA	TPRO	6.53	66	430.98
1ZAZHYH2N	04/09/2025	14:39:56	Buy	IT.ico	MTA	TPRO	6.53	46	300.38
1ZAZHYH2O	04/09/2025	14:39:56	Buy	IT.ico	MTA	TPRO	6.53	24	156.72
1ZAZHYH2S	04/09/2025	14:40:05	Buy	IT.ico	MTA	TPRO	6.535	7	45.745
1ZAZHYH2T	04/09/2025	14:40:05	Buy	IT.ico	MTA	TPRO	6.545	250	1636.25
1ZAZHYH2U	04/09/2025	14:40:05	Buy	IT.ico	MTA	TPRO	6.545	929	6080.305
1ZAZHYH2V	04/09/2025	14:40:05	Buy	IT.ico	MTA	TPRO	6.545	1,126	7369.67
1ZAZHYH2W	04/09/2025	14:40:05	Buy	IT.ico	MTA	TPRO	6.55	363	2377.65
1ZAZHYH2X	04/09/2025	14:40:05	Buy	IT.ico	MTA	TPRO	6.55	6,227	40786.85
1ZAZHYH2Y	04/09/2025	14:40:05	Buy	IT.ico	MTA	TPRO	6.55	5,994	39260.7
1ZAZHYH2Z	04/09/2025	14:40:05	Buy	IT.ico	MTA	TPRO	6.55	866	5672.3
1ZAZHYH31	04/09/2025	14:40:05	Buy	IT.ico	MTA	TPRO	6.53	4,864	31761.92
1ZAZHYH39	04/09/2025	14:40:20	Buy	IT.ico	MTA	TPRO	6.53	250	1632.5
1ZAZHYH3A	04/09/2025	14:40:20	Buy	IT.ico	MTA	TPRO	6.53	84	548.52
1ZAZHYH3B	04/09/2025	14:40:20	Buy	IT.ico	MTA	TPRO	6.54	250	1635
1ZAZHYH3C	04/09/2025	14:40:20	Buy	IT.ico	MTA	TPRO	6.545	1,360	8901.2
1ZAZHYH3D	04/09/2025	14:40:20	Buy	IT.ico	MTA	TPRO	6.545	2,291	14994.6
1ZAZHYH3E	04/09/2025	14:40:20	Buy	IT.ico	MTA	TPRO	6.545	886	5798.87
1ZAZHYH3F	04/09/2025	14:40:20	Buy	IT.ico	MTA	TPRO	6.55	4,773	31263.15
1ZAZHYH3G	04/09/2025	14:40:20	Buy	IT.ico	MTA	TPRO	6.55	3,006	19689.3
1ZAZHYH3H	04/09/2025	14:40:20	Buy	IT.ico	MTA	TPRO	6.55	2,100	13755
1ZAZHYH3J	04/09/2025	14:40:21	Buy	IT.ico	MTA	TPRO	6.52	2,081	13568.12
1ZAZHYH3L	04/09/2025	14:40:23	Buy	IT.ico	MTA	TPRO	6.52	1,002	6533.04
1ZAZHYH3O	04/09/2025	14:40:27	Buy	IT.ico	MTA	TPRO	6.52	191	1245.32
1ZAZHYI7G	04/09/2025	15:14:43	Buy	IT.ico	MTA	TPRO	6.5	1,500	9750
1ZAZHYI7K	04/09/2025	15:14:50	Buy	IT.ico	MTA	TPRO	6.5	379	2463.5
1ZAZHYI9A	04/09/2025	15:16:09	Buy	IT.ico	MTA	TPRO	6.5	551	3581.5









1ZAZHYI9B	04/09/2025	15:16:11	Buy	IT.ico	MTA	TPRO	6.5	136	884
1ZAZHYIAQ	04/09/2025	15:17:29	Buy	IT.ico	MTA	TPRO	6.5	134	871
1ZAZHYIC5	04/09/2025	15:18:35	Buy	IT.ico	MTA	TPRO	6.5	300	1950
1ZAZHYIC8	04/09/2025	15:18:35	Buy	IT.ico	MTA	TPRO	6.5	7,000	45500
1ZAZHYJR0	04/09/2025	15:46:41	Buy	IT.ico	MTA	TPRO	6.49	2	12.98
1ZAZHYJR1	04/09/2025	15:46:41	Buy	IT.ico	MTA	TPRO	6.49	19	123.31
1ZAZHYJR2	04/09/2025	15:46:41	Buy	IT.ico	MTA	TPRO	6.49	1	6.49
1ZAZHYJR3	04/09/2025	15:46:41	Buy	IT.ico	MTA	TPRO	6.49	12	77.88
1ZAZHYK7V	04/09/2025	15:57:24	Buy	IT.ico	MTA	TPRO	6.505	115	748.075
1ZAZHYK7W	04/09/2025	15:57:24	Buy	IT.ico	MTA	TPRO	6.505	2	13.01
1ZAZHYK7X	04/09/2025	15:57:24	Buy	IT.ico	MTA	TPRO	6.515	909	5922.135
1ZAZHYK7Y	04/09/2025	15:57:24	Buy	IT.ico	MTA	TPRO	6.515	894	5824.41
1ZAZHYK7Z	04/09/2025	15:57:24	Buy	IT.ico	MTA	TPRO	6.52	250	1630
1ZAZHYK80	04/09/2025	15:57:24	Buy	IT.ico	MTA	TPRO	6.52	500	3260
1ZAZHYK81	04/09/2025	15:57:24	Buy	IT.ico	MTA	TPRO	6.52	6,110	39837.2
1ZAZHYK82	04/09/2025	15:57:24	Buy	IT.ico	MTA	TPRO	6.52	1,431	9330.12
1ZAZHYK83	04/09/2025	15:57:24	Buy	IT.ico	MTA	TPRO	6.52	867	5652.84
1ZAZHYK84	04/09/2025	15:57:24	Buy	IT.ico	MTA	TPRO	6.52	3,890	25362.8
1ZAZHYK85	04/09/2025	15:57:24	Buy	IT.ico	MTA	TPRO	6.52	32	208.64
1ZAZHYOPE	04/09/2025	17:22:32	Buy	IT.ico	MTA	TPRO	6.55	1,000	6550
1ZAZHYOPF	04/09/2025	17:22:32	Buy	IT.ico	MTA	TPRO	6.55	1,000	6550
1ZAZHYOPG	04/09/2025	17:22:32	Buy	IT.ico	MTA	TPRO	6.55	1,000	6550
1ZAZHYOPH	04/09/2025	17:22:32	Buy	IT.ico	MTA	TPRO	6.55	1,000	6550
1ZAZHYOPN	04/09/2025	17:22:32	Buy	IT.ico	MTA	TPRO	6.55	1,000	6550
1ZAZHYOPQ	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	1,000	6550
1ZAZHYOPT	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	391	2561.05
1ZAZHYOPU	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	609	3988.95
1ZAZHYOPV	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	1,000	6550
1ZAZHYOPW	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	39	255.45
1ZAZHYOPX	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	39	255.45
1ZAZHYOPY	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	922	6039.1
1ZAZHYOPZ	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	78	510.9
1ZAZHYOQ0	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	129	844.95
1ZAZHYOQ1	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	334	2187.7
1ZAZHYOQ2	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	537	3517.35
1ZAZHYOQ3	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	1,000	6550
1ZAZHYOQ4	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	1,000	6550
1ZAZHYOQ5	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	1,000	6550









1ZAZHYOQ6	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	274	1794.7
1ZAZHYOQ7	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	459	3006.45
1ZAZHYOQ8	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	267	1748.85
1ZAZHYOQ9	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	38	248.9
1ZAZHYOQA	04/09/2025	17:22:38	Buy	IT.ico	MTA	TPRO	6.55	277	1814.35
1ZAZHYOQE	04/09/2025	17:22:41	Buy	IT.ico	MTA	TPRO	6.55	121	792.55
1ZAZHYOQF	04/09/2025	17:22:41	Buy	IT.ico	MTA	TPRO	6.55	564	3694.2
1ZAZHYOQG	04/09/2025	17:22:41	Buy	IT.ico	MTA	TPRO	6.55	114	746.7
1ZAZHYP0S	04/09/2025	17:26:23	Buy	IT.ico	MTA	TPRO	6.55	142	930.1
1ZAZHYP2Y	04/09/2025	17:27:03	Buy	IT.ico	MTA	TPRO	6.55	127	831.85
1ZAZHYP5L	04/09/2025	17:28:03	Buy	IT.ico	MTA	TPRO	6.55	149	975.95
1ZAZHYP5N	04/09/2025	17:28:05	Buy	IT.ico	MTA	TPRO	6.55	142	930.1
1ZAZHYP7J	04/09/2025	17:28:42	Buy	IT.ico	MTA	TPRO	6.55	179	1172.45
1ZAZHZ42I	05/09/2025	16:14:25	Buy	IT.ico	MTA	TPRO	6.72	747	5019.84
1ZAZHZ42J	05/09/2025	16:14:25	Buy	IT.ico	MTA	TPRO	6.72	753	5060.16
1ZAZHZ42M	05/09/2025	16:14:25	Buy	IT.ico	MTA	TPRO	6.72	1,500	10080
1ZAZHZ42N	05/09/2025	16:14:25	Buy	IT.ico	MTA	TPRO	6.72	401	2694.72
1ZAZHZ42O	05/09/2025	16:14:25	Buy	IT.ico	MTA	TPRO	6.72	1,500	10080
1ZAZHZ42P	05/09/2025	16:14:25	Buy	IT.ico	MTA	TPRO	6.72	728	4892.16
1ZAZHZ42Q	05/09/2025	16:14:25	Buy	IT.ico	MTA	TPRO	6.72	772	5187.84
1ZAZHZ42R	05/09/2025	16:14:25	Buy	IT.ico	MTA	TPRO	6.72	1,129	7586.88
1ZAZHZ42S	05/09/2025	16:14:25	Buy	IT.ico	MTA	TPRO	6.72	1,500	10080
1ZAZHZ43T	05/09/2025	16:14:51	Buy	IT.ico	MTA	TPRO	6.72	280	1881.6
1ZAZHZ43U	05/09/2025	16:14:51	Buy	IT.ico	MTA	TPRO	6.72	690	4636.8
1ZAZHZ4XV	05/09/2025	16:29:30	Buy	IT.ico	MTA	TPRO	6.69	394	2635.86
1ZAZHZ4XW	05/09/2025	16:29:30	Buy	IT.ico	MTA	TPRO	6.69	164	1097.16
1ZAZHZ4XX	05/09/2025	16:29:30	Buy	IT.ico	MTA	TPRO	6.69	228	1525.32
1ZAZHZ4XY	05/09/2025	16:29:30	Buy	IT.ico	MTA	TPRO	6.695	143	957.385
1ZAZHZ4XZ	05/09/2025	16:29:30	Buy	IT.ico	MTA	TPRO	6.695	318	2129.01
1ZAZHZ4Y0	05/09/2025	16:29:30	Buy	IT.ico	MTA	TPRO	6.7	1,158	7758.6
1ZAZHZ4Y1	05/09/2025	16:29:30	Buy	IT.ico	MTA	TPRO	6.7	1,057	7081.9
1ZAZHZ4Y2	05/09/2025	16:29:30	Buy	IT.ico	MTA	TPRO	6.7	6,711	44963.7
1ZAZHZ4Y3	05/09/2025	16:29:30	Buy	IT.ico	MTA	TPRO	6.7	4,827	32340.9
1ZAZHZ553	05/09/2025	16:36:22	Buy	IT.ico	MTA	TPRO	6.69	250	1672.5
1ZAZHZ554	05/09/2025	16:36:22	Buy	IT.ico	MTA	TPRO	6.695	318	2129.01
1ZAZHZ555	05/09/2025	16:36:22	Buy	IT.ico	MTA	TPRO	6.695	72	482.04
1ZAZHZ556	05/09/2025	16:36:22	Buy	IT.ico	MTA	TPRO	6.7	462	3095.4
1ZAZHZ557	05/09/2025	16:36:22	Buy	IT.ico	MTA	TPRO	6.7	5,112	34250.4









1ZAZHZ558	05/09/2025	16:36:22	Buy	IT.ico	MTA	TPRO	6.7	3,000	20100
1ZAZHZ559	05/09/2025	16:36:22	Buy	IT.ico	MTA	TPRO	6.7	4,888	32749.6
1ZAZHZ55A	05/09/2025	16:36:22	Buy	IT.ico	MTA	TPRO	6.7	898	6016.6
1ZAZHZ5JS	05/09/2025	16:48:45	Buy	IT.ico	MTA	TPRO	6.69	250	1672.5
1ZAZHZ5JT	05/09/2025	16:48:45	Buy	IT.ico	MTA	TPRO	6.69	147	983.43
1ZAZHZ5JU	05/09/2025	16:48:45	Buy	IT.ico	MTA	TPRO	6.69	54	361.26
1ZAZHZ5JV	05/09/2025	16:48:45	Buy	IT.ico	MTA	TPRO	6.7	960	6432
1ZAZHZ5JW	05/09/2025	16:48:45	Buy	IT.ico	MTA	TPRO	6.7	1,168	7825.6
1ZAZHZ5JX	05/09/2025	16:48:45	Buy	IT.ico	MTA	TPRO	6.705	250	1676.25
1ZAZHZ5JY	05/09/2025	16:48:45	Buy	IT.ico	MTA	TPRO	6.705	874	5860.17
1ZAZHZ5JZ	05/09/2025	16:48:45	Buy	IT.ico	MTA	TPRO	6.705	7,456	49992.48
1ZAZHZ5K0	05/09/2025	16:48:45	Buy	IT.ico	MTA	TPRO	6.705	3,841	25753.91
1ZAZHZ5YD	05/09/2025	16:59:21	Buy	IT.ico	MTA	TPRO	6.69	186	1244.34
1ZAZHZ5YE	05/09/2025	16:59:21	Buy	IT.ico	MTA	TPRO	6.695	250	1673.75
1ZAZHZ5YF	05/09/2025	16:59:21	Buy	IT.ico	MTA	TPRO	6.7	165	1105.5
1ZAZHZ5YG	05/09/2025	16:59:21	Buy	IT.ico	MTA	TPRO	6.7	66	442.2
1ZAZHZ5YH	05/09/2025	16:59:21	Buy	IT.ico	MTA	TPRO	6.7	6,855	45928.5
1ZAZHZ5YI	05/09/2025	16:59:21	Buy	IT.ico	MTA	TPRO	6.7	2,039	13661.3
1ZAZHZ5YJ	05/09/2025	16:59:21	Buy	IT.ico	MTA	TPRO	6.7	439	2941.3
1ZAZHZ6ID	05/09/2025	17:16:23	Buy	IT.ico	MTA	TPRO	6.695	104	696.28
1ZAZHZ6IE	05/09/2025	17:16:23	Buy	IT.ico	MTA	TPRO	6.71	250	1677.5
1ZAZHZ6IF	05/09/2025	17:16:23	Buy	IT.ico	MTA	TPRO	6.71	4,530	30396.3
1ZAZHZ6IG	05/09/2025	17:16:23	Buy	IT.ico	MTA	TPRO	6.71	982	6589.22
1ZAZHZ6IH	05/09/2025	17:16:23	Buy	IT.ico	MTA	TPRO	6.71	1,110	7448.1
1ZAZHZ6II	05/09/2025	17:16:23	Buy	IT.ico	MTA	TPRO	6.71	817	5482.07
1ZAZHZ6IJ	05/09/2025	17:16:23	Buy	IT.ico	MTA	TPRO	6.715	354	2377.11
1ZAZHZ6IK	05/09/2025	17:16:23	Buy	IT.ico	MTA	TPRO	6.715	6,853	46017.9
1ZAZHZ6IQ	05/09/2025	17:16:45	Buy	IT.ico	MTA	TPRO	6.705	250	1676.25
1ZAZHZ6IR	05/09/2025	17:16:45	Buy	IT.ico	MTA	TPRO	6.715	302	2027.93
1ZAZHZ6IS	05/09/2025	17:16:45	Buy	IT.ico	MTA	TPRO	6.715	3,910	26255.65
1ZAZHZ6IT	05/09/2025	17:16:45	Buy	IT.ico	MTA	TPRO	6.715	538	3612.67

Fine Comunicato n.20250-71-2025

Numero di Pagine: 22